SmallRig

Cage (for Sony Alpha 1 11 / Alpha 9 Il1)
RRAE GERTEE Alpha 111/ Alpha 9 111)

Operating Instruction / ##{E#535|




Thank you for purchasing SmallRig's product.
RGRIESE SmallRig P&

Please read this Operating Instruction carefully.
ERAFRZE, BFRRDRIREES.

Please follow the safety warnings.
BERMAESRTEEERRIERESINMEES

In the Box / 3588
Cage x1 Operating Instruction  x 1 Guarantee Card
RRIE BRAEFESI RIEF

Specifications / FFRE

x1

Product Dimensions 5.8x2.8x4.4in

PR RS 147.5%70.0 x 112.5mm
Product Weight 5.9+0.20z

FrREE 166.5 + 5.0g

Material(s) Aluminium Alloy, Silicone
FEMR BEd®, BHBR




Product Details / F=@RE

@ 1/4"-20 Threaded Hole ® H38 Arca-Swiss Plate ® Dual-Head Wrench
1/4"-20 $8403, H38 BRf-RAUS AR WL F

@ 3/8"-16 Threaded Hole ® H18 Cold Shoe ® Locating Block
3/8"-16 $RLFL H18% TEfIER

(@ ARRI 3/8"-16 Locating Hole @ Strap Slot @ 1/4'-20 Locating Hole
[SESA N J=EeE 1/4"-20 TEAIFL

@ Mé Threaded Hole QD Socket @ H21 NATO Rail

MASREF QDA H21iB%




Cage Installation / A RIERFE L B

(1) Put the camera into the cage from the back
BENMNEERIIAIRRIE.

* The package does not include
the camera.
*ENNSES M

(2) Use the double head wrench to secure the cage by tightening the 1/4'-20 screw.
BENELIRFITERER/4'- 20884, $IEEERFIE.

= The package does not include
the camera
*ENNSESH




(3) Use the double head wrench to loosen the 1/4"-20 screw on the left side of the
cage, push the locating block until it tilts to the right (about 10-15 degrees),
and fix it to the camera's triangular ring, and then use the double head wrench
to tighten the 1/4"-20 screw.

SBIVELRFAS M /4" - 20 LITH, BiBROARNEADEBE (£4910-158)
HEEEN=AR, BEIRFITR/4 20182,

* The package does not include .
the camera N
NS ERE g Press softly / &

* The package does not include the camera.

NS ESE




(4) Use the double head wrench to move the M4 screw on the bottom of the plate
to the top left corner of the plate, then secure the cage by tightening.

BIVRFEARIERMMRLITE RS LABEILP, BEEAREEN.

+ The package does not include
the camera.
*ENNEES M

* The package does not include
the camera.
NS FESE




Manufacturer Email: support@smallrig.com

Manufacturer: Shenzhen Leqi Innovation Co., Ltd.

HIEE: R RECFRIBBRAT

Add: Rooms 101, 701, 901, Building 4, Gonglianfuji Innovation Park, No. 58,
Ping'an Road, Dafu Community, Guanlan Street, Longhua District,
Shenzhen, Guangdong, China.

ol PESRERYITRERBEEX =1 X FRIE58 SHEKEECIIE MR
101, 701, 901

Consignor: Shenzhen LC Co.,, Ltd.

Z178: RIHREHRERAS

Add: Room 201, Building 4, Gonglianfuji Innovation Park, No. 58, Ping'an Road,
Dafu Community, Guanlan Street, Longhua District, Shenzhen,
Guangdong, China.

Stk PERERYI T REKIVRENEX Bt K FRIE58 SHEXERCIHRE4MF201

HATHRAE: GB/T 26572-2011 LQ-P1442-18
ROHS CE ® < & &

PEFIE

=

" LETRI @ “ = Made in China
(Nl @ FaciLE + ”f
Boite 1__Papier 5 TRl

Séparez les éléments avant de trier




SmallRig

--FREE YOUR DREAM--




